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Question numbers 1 to 8 carry one mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select the correct
choice.
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Which of the following rational numbers have terminating decimal Expansion ?

11 91 343 31
B 3000 @ S S 1 A
AT o, B FETE px) =X ~5x +6 F TIF & T «+ B—3ap FHF & -
(a) -5 B -13 © 13 D 6
lraandBarezermofmepc]ynnmta{p{x}=rz-51+ﬁ,thenl:lwva}mnfa‘+|3—3uﬁis:
(A) -5 B) -13 © 13 D 6
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(A)  27"H (B} 1899 (© 21%HL (D) 093

In the given figure, XY||QR, % - % and PR=6.3 cm then YR equals :
P

X, Y
Q R
8 27 am (B) 18.9 cm {C) 2lem (D) 09acm

Tle sect + tanb =7 &, T sech — tan FTET & -

(A) é B) 7 cy 5 (D) 49
If sech + tant =7, then sech — tan# is -
(a) 1 B 7 © 6 D) 49
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If p is a prime number then LCM of p, p” and pis :
(A) p B) p © 9 D p°

k% {58 717 & o ol g0 a3y =9, 2+ ky =11 FFE s 7 & -

9 1 3 2
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For what value of k, the pair of equations 4x—3y=9, 2x + ky=11 has no solution :

g 1 3 2
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A5 tane=12 & I 13;"1‘“ FOURE

A 2 By 4 © 12 o 1
If 5 tanf =12 then 13;“‘9 S

(A) 2 (B 4 € 12 D) 1
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SR (7. 7) [150- 155 [ 155- 160 | 160- 165 | 165- 170 | 170~ 175 | 175 - 180 |

o F1 TEd 15 13 10 8 9 5
FgEF 1 1 71 | a9 T ol 1 3o G 1 9RTES €
(A) 310 (B) 315 (© 320 (D) 330
Consider the following frequency distribution of the heights of 60 students of a class :
Height (in cm) : 150 - 155 | 155 - 160|160 - 165 | 165-170 | 170 - 175 | 175 - 180
Number of students 15 13 10 8 9 5
The sum of the lower limit of the model class and the upper limit of the median class is :
(A) 310 (B) 315 (C) 320 (D) 330

WUE-H [ SECTION-B
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Question numbers 9 to 14 carry two marks each.

1 31 WA B HE. (HCF) 15 791 7.9, (LCM) 175 8 91 &7 &Rl G|
Can two numbers have 15 as their HCF and 175 as their LCM ? Give reasons.

}E\/ px)=2"—x—6 % YAF T Fiforg o971 == 2 ol % 419 F gay 5 guiug e

Find the zeroes of p[x}=212—x-6 and werity their relationship of zeroes with these
co-efficient,
T T i § QA LAB 79T PBLAB ¥1 4ft AO=20 4.7, BO=12 4.4t amipB=18 4.1, &

f .HFH'_’;Ta‘ge 4 of10 £




given figure, QA LAB and PBLAB. If AO=20cm, BO=12 cm, PB=18 cm find AQ.
P
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2 ot gcosp=11simp e 1LES0 =7 5ind oo co

11 cosB + 7 sinf

If 4 cos8 =11 sind, find the value of 11950 —7siné
11 cos@ + 7 sinf

@ 9 =Y 6 FIT 7 TG p(x) =axr’ + br +¢ F T9F UF gH F A £

X { =
Find the condition that zeroes of polynomial p(x)=ax"+ bx +c are reciprocal of each other. ;«\.

}V =1 srama 527 1 wgees 99 Fife {/ﬂ

HE 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Taenfefai &t gen 15 30 45 12 18
Find the mode of the following frequency distribution :
Marks 10-20 | 20-30 | 30-40 | 40-50 | 50- 60
Number of students 15 30 45 12 18
319&ET JOR
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1008 9 23

150 9 %1 35

200§ &9 81

2509 w9 93

300 9 FH 100

TR HeA FI UF AHaLdl 529 § 5eie |
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The following table gives the life time in days of 100 bulbs :
Life time in days | Number of Bulbs

Less than 50 g

Less than 100 23
Less than 150 55
Less than 200 81

Less than 250 93
Less than 300 100

Change the above distribution as frequency distribution.

FUS-H / SECTION-C
T EEA 15 24§ UGF & 330 T
Question numbers 15 to 24 carry three marks each.

% TEEE ABCD frmd AB|DC %, & fawvl AC 341 BD 7R O W W= 3 &1 <wis f&

oA _ 0B
oc oD’
Diagonals AC and BD of a trapezium ABCD with AB|[DC intersect each other at the point

0. Show tha % = ﬂ
oC QD

16,7 32 +4x7+5x—13 F1 TF g g(x) ¥ WM H W RTRA 9T WRE FAW: 3r+10 T4

16x—43 3N €1 FEIT g(x) TA HITAY

On dividing|3x’+4x"+5x—13 by a polynomial g(x) the quotient and remainder were
3x+10 and 16343 respectively. Find the polynomial g(x).

17, w faaem & wen X # 9 §F A 79T B #1 S99 A ¥ 48 o € oo 999H B ¥ 60 B €1

18.

foae =1 il H TE! B 98 B A FH TON TW HIGY a1 T YA §, TR 79 @
= M EFF |
In a school there are two sections A and B of class X. There are 48 students in section A and

60 students in Section B.
Determine the least number of books required for the library of the school so that the books

can be distributed equally among all students of each section.
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By using Euclid’s algorithm, find the largest number which divides 650 and 1170.
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= i i ; S8 I L5 cin36° sing2® secds® secs” ﬁf— o
sec”20° — cot“70° X )_ 2
e i Do _t‘_-«' —_—
Find the value of S2-50 £ 27 4 5 36° sind2° secd8® sec54” L R
sec”20° wcot”70° ‘ii-;‘!"
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Find all the zeroes of the polynomial ¥ —6x°+11x—6 if two of its zeroes are 1 and 2.

5}./ xﬁmyﬁ?fﬁﬁﬁﬁﬂ'ﬁ'{:

27x+31y=85,
31x+27y=89
Solve forx and y :
27x+31y =85,
Ix+27y=89
3T JOR
T Shiferd ¢ £+£=a+b
a b
* o
3_2 + ? 12; a,b:t{]
x
Solve = +==a+b
a
x y
-+ ==2, ab=z0
2T
?/uﬁﬁqaﬁa@fmmm.sta‘rkaﬂmmm:
=i 0-10 | 10-20 | 20-30 | 30-40 | 40-50
a6 4 ol 2
If the mean of the following datais 215, find the valueof k.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 6 £ ]| 3 k p
CER T
> amw ¥ DE|BCAMAD: DB=7:5% @
=0 | CERTS
A
“
e " 2
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B C
., area(ADFE)
i :DB=7:5. Find ——.
In the given figure, DE||BC and AD : DB=7: 5. Fin arca(ACEB)
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In the given figure, the line segment XY is parallel to the side AC of AABC and it divides ‘5""'#““/
the triangle into two parts of equal areas. Find the ratio 2>~ |
A
L =
‘I\:’??t’r_}
v A
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B i
L "'-"E
23, : o L e o=
. sin 1+ cosd 3 B
/ﬁzqﬁﬁq,lil- -+ — = 2 cosech f:r:’-., NV u"\‘
3 A
Prove that : — > Lt S e Ll
: 1 + cosf sinf ? e i
Bt i
¥ et # 50 vt % uR (fe. . ) st g ¥ i)
R (Fwam ) | 100-110 | 110-120 | 120-130 | 130-140 | 140150 i
TEEEH S G 4 14 - T L 3
TEETE! @I 3T YR | Fie | o5
The weights (in kg) ofEDwrest]ersareremrdedinthefu]lcwing table : %
Weight (in kg) 100-110 | 110-120 | 120-130 | 130-140 | 140-150 | f—
Mumber of wrestlers 4 14 21 ] 3 L"“ -3
Find the average weight of the wrestlers, s, S
4 R '\.“!r" v} 'é#
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Question numbers 25 to 3 carry four marks each. e X "+ -y
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oz =i 7% 3 — /5w smfids e #
Prove that 3 — /5 is an irrational number.

. @ 3 & few a3 e T 11§ wlE walE gite 3w 9w ok 2 e T 7§ whie
¥ foft =1 Y Tl g waivia Fify 9w 90 2R o Sew a1 15 99 1 06
Fifa |
Amit bought two pencils and three chocolates for ¥ 11 and Sumeet bought one pencil two

chocolates for T 7. Represent this situation in the form of a pair of linear equations. Find
the price of one pencil and that of one chocolate graphically.
27 2 v
/ fapwtiny: S50 EENE L el cost
1—tand  sind —cosh
2 -3
Provedhar- S50 . SRR . et
1—tan8 sind — cosh

2. AR FE T wmAEs 2 Al x Ty % TH T B ;

a1 Circint
0-10 5
10-20 x
20 - 30 20
30 - 40 14
40 - 50 ¥
50 - 60 8
am 68

If the median of the distribution given below is 27. Find the values of x and y.

Class | Frequency

0-10 5 .
10 - 20 x

20-30 20

30 -40 14

40 - 50 y

50 - 60 8

Total 68 |

2?/ afg W98 p(x)=2x"+5x+k F YFF o 791 g, FIY o’ +B+af= :-;_1 ® 9= 5@ €, a k F
A FG Hifg |
If aand Bare the zeroes of the polynomial p(x)=2r"+5x+k satisfying the relation,
o + §'+aﬁ=%,thm find the value of k.
HeET JOR
T WA TGS ABCD H LA =(x+7)°, £B=(y+8)’, £C=(3y+23)° T /D= (4x+12) &I
59 TF 1 9 & TR S0 G Siey |

In a cyclic quadrilateral ABCD, ZA=(x+7)° <£B=(y+8)°, ZC=(v+23)° and
JP/ £D=(4x+12)". Find all four angles of the cyclic quadrilateral.

AABC H A ¥ Y1 BC W T/&W 7M1 &%, BC %1 D W 39 ¥R fuwa € fis BD=3CD #1 =¥z
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34,

& 248" =24C + BC ~
In a AABC, #he perpendicular from A on BC meets BC at D, such that BD=3CD. Show that
2AR =2AC +BC

37 JOR
7fs AABC = W=T¢ AB T4 BC 3ir witsst AD, e PQR &1 &7 ynsdi PQ 41 QR 3K
quﬂmnﬁﬁ o ey i AABC - APQR %1
AE BC and median AD of AABC are proportional to the corresponding sides PQ,
ecian PM of POR, show that AABC - APQFR.
SeA cosC, y=r sinA sinC 791 z=r cosA §, @ fog A 5 P+ 7+ =7 ¥
y=r sinA sinC and z=r cosé then prove that x* +1/ + 2" =1’

& 21 Ty el & Sawal o S99, T S oSt & SO & A & TR

ﬁfhﬁ’ﬂ triangle are similar then ratio of their areas is equal to ratio of squares of
ﬁH-Hpcmdmg sides.
2 cos65®  tan20”
5in25° cot?0"
Evalmate -2 055" _ 20207 _ 59004 tan® an35° tan60° tan55° . tang5®
sin25° cot? 0"
FES 9
(a) | FHYFRH

(o) % Al yr = AR Sitae )

—5in90° +&@an5° tan35° tan60” tan55° . tan85”

i | 0-10,/k10-20 | 20-30 | 30-40 | 40-50
FREEA! 8 7 5 10 5
YU AHE] &1 HIEAF Wl T i |
Draw : -

(a)  more than ogive and
(b)  less than ogive for the following data
Classes 0-10 | 10-20 | 20-30 | 30-40 | 40

Frequency 8 7 5 10
Also find the its median. g
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